

JAMSHORO POWER COMPANY LIMITED (GENCO-I)



QUOTATION DOCUMENTS ON PERCENTAGE RATE BASIS

FOR

RE-CONSTRUCTION OF FALLEN & TILTED BOUNDARY WALL
OF BUNGALOW NO B-01 IN RESIDENTIAL COLONY TPS

JAMSHORO

BILL OF QUANTITIES

Total of estimated Amounts entered in column 06 below shall be increased or Decreased (AS the case may be) by the single percentage of the quotation at this page and the amount so arrived at and entered at the end of bill quantities shall be the quotation price of the whole work which shall also be entered by the quotation. The quotation shall also affix his signatures at the end of the BOQ. In case of difference between the percentage applied to the total estimated cost of the whole work at the end of the bill of quantities and the percentage of the quotation, the percentage which gives the lesser quotation prices shall be deemed to the correct percentage quoted by the quotation participates.

Signature of Contractor
With Sea

BILL OF QUANTITIES

SR. No	DESCRIPTION	UNIT	QTY	RATE	AMOUNT
1	Dismantling cement concrete Plain 1:2:4 (WCSR-2022 P-3-2 Item-14/c)	М3	4.00	Rs. 4,020.00	Rs. 16,080.
2	Dismantling Brick work in lime or cement mortar. (WCSR-2022 P-3-1 Item 9)	M3	13.00	Rs. 1,445.00	Rs. 18,785.
3	Excavation in foundation of buildings, bridges and other structures including dibbling dressing, refilling around structure with excavated earth, watering and ramming lead up to 30 m and lift up to 1.5 m (in Ordinary. (WCSR-2022 P-2-5 Item 22-b)	M3	17.00	Rs. 402.00	Rs. 6,834.0
4	Cement Concrete plain i/c placing compacting, finishing and curing complete (i/c screening and washing of stone aggregate) without shuttering. Ratio 1:4:8 (WCSR-2022 P-5-2 (d)	M3	4.00	Rs. 8,650.00	Rs. 34,600.
5	Brick work other then building up to 3 meters height in 1:5 cement mortar (WCSR-2022 P-6-1 Item 4-d)	М3	15.00	Rs. 11,500.00	Rs. 172,500
6	Cement Plaster (1:4) upto 1st floor height 13mm (WSCR-2022 P-10-1 item 5-b)	M2	198.00	Rs. 369.00	Rs. 73,062.
7	Cement Pointing struck joints on in wall Raito. (1:2) (WCSR-2022 P-10-1 Item 9	M2	134.00	Rs. 403.00	Rs. 54,002.0
8	Damp Proof course 1:2:4 (WCSR-2022 P-6-4 Item 25/a)	M2	8.00	Rs. 850.00	Rs. 6,800.0
Estimated Amount Total					Rs. 382,663.
Add & less/ above & below (Percentage %)			Contractor Premium		Rs.
Total Amount					Rs.

Note:

- The rates must be quoted excluding GST/SST.
- The estimate based on WCSR-2022, however due to EPAD complusion, the quantity of the items should be whole numbers irrespective of fraction digit, also the rates of items are in whole digit.

Signature of Contractor
With Seal

Jamshoro Power Company Limited (Genco-I) Quotation

Statement of Requirements

The estimate has been framed to cover the cost for re-construction of fallen and tilted boundary wall of Bungalow no. B-01 in Residential colony JPCL, Jamshoro, it also includes the work of plaster of Roof and beams in bidding documents. The quotations are required from SST and FBR registered firms for above-mentioned work.

Signature of Contractor With Seal

Terms & Condition of the Tender:

- 1. The PEC registration contractors with valid registration along with FBR & SRB active.
- 2. The firms who are at ATL eligible to participate in the online bidding.
- 3. The error free / without cutting encasing, shall upload on EPAD on due date as prescribed i.e 09-09-2025 upto 12.00 hrs
- 4. Original Registration with the Pakistan Engineering Council (Civil) Certificate.
- 5. Original Registration with Income Tax Department (NTN Certificates).
- 6. Original Registration certificate of Sindh Revenue Board, Government of Sindh is required
- 7. Improper / Incomplete or Conditional bids will be rejected straight away.
- 8. The procuring agency may reject all bids or proposal at any time prior to the acceptance of a bid or proposal. The procuring Agency shall upon request communicate to any supplier or contractor who submitted a bid or proposal, the grounds for its rejection of all bids or proposals, but is not required to justify those grounds as per PPRA Rule-33 (1).
- 9. This Quotationr can also be seen on EPAD & JPCL website.
- 10. For any information or clarification can be sought on Phone number 022-9213716 during office hours.
- 11. The most advantageous bidder, whome the work order will issue should deposit the stamp duty (E-stamp) @ 0.35% of work order amount (Excluding GST / SST), before submitting the Bill.
- 12. The work completion period is 20 days, from the date of issuance of work order.

Signature of Contractor
With Seal

Special Note:

• Closing Date of Quotation :- 16-09-2025

• Closing Time of Quotation :- 12:00 Hrs

• Opening Date of Quotation: 16-09-2025

• Opening Time of Quotation:- 12:30 Hrs

2

- Original Bid Security Instrument MUST BE submitted to the office of the JPCL, Jamshoro. Before the online submission deadline of the bid; otherwise, respective bid will not be opened.
- Notification of the GRC constituted in terms of Rule-48 of PPRA rules, 204 is provided on EPADS at https://eprocure.gov.pk and PPRA https://epra.gov.pk.
- In case of any technical difficulty in using EPADS, prospective bidders may contact JPCL Procurement Committee 022-9213706 and PPRA Team Contact No 051-111-137-237.

Signature of Contractor
With Seal